
−2𝑥ଶ           − 3𝑥ଶ𝑦          5𝑥          2          − 3𝑥𝑦ଶ𝑧          √5
⎯⎯ 

𝑥          2ିସ𝑥𝑦          1𝑥𝑦

State the Coefficient and the Degree of the term.

Coefficient:

      Degree:

State the degree of the Polynomial, the Leading Term and the Leading Coefficient.

Degree:

Leading Term:

Leading Coefficient:

5𝑥 − 3𝑥ଶ 𝑥ଷ + 4𝑥ଶ 𝑥𝑦 − 2𝑥𝑦ଶ + 4

Circle the following polynomials and state the type or state why not.

2𝑥 + 5

5𝑥ଶ𝑦 +
3

𝑥
⎯⎯

6𝑥 + 2

𝑥ଶ − 2𝑥 + 1

√5
⎯⎯ 

𝑥 + 3

𝑦 = 𝑙𝑜𝑔𝑥 + 2

√3𝑥
⎯⎯⎯ 

+ 9

𝑒௫మ

0

2𝑥ିଶ

6

𝑥ଷ + 3𝑥ଶ − 2𝑥 + 1

M9 - 5.1 - Algebraic Expressions HW

   Poly Page 1    


